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Koz, BAKE ZEBXKZE KBEXE BHXE BERBEX BEFER | XEBEXE
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E4=PSEES N 2 | 10 x | = [ x[ =[] x]—-158] 2 |[9v12] 1
SERPERTHE 10 34| 5 | 34| 5 [58]| 2 x — |{9v14| 1
LHAETE * 10 4 13 | 5~8 | 2 X — [9v2] 1 X —
SEARPERTHE 8 1 10 | 34| 5 [58| 2 | 58| 2 914 | 1
SHAEFHE 6 %3+4| 6 |58 2 X — X = X =
2HAXRPERFE 10 34| 5 |946| 1 [9+16] 1 X — |l9+6| 1
AKX EFIE 6 #9~6| 1 %2 | 10 X - X - % -
SRRPZERTHE 5 34| 5 2 8 [9+16] 1 |58 | 2 ||9~16]| 1
LAXREFIE 1 #5~8| 2 %2 | 10 | %16 | 1 |x5~8| 2 X —
SAXRPERFIE 8 914 | 1 58| 2 |9~14| 1 |94 1 914 | 1
LHXNEFIE 6 %2 | 10 |x17~24 0 [9+6]| 1 |9~16| 1 X =
LAARFERFIE 10 34| 5 2 8 | 34| 5 |58 2 |[17-18] 0
£AFXREFE 10 #916] 1 [9~16] 1 %8| 2 |58 | 2 [|x3-4]| 6
£AARFERFIE 8 34| 5 |9+16| 1 |17~24] 0 | 34| 5 5~8 | 2
£AREFIE 13 X — |x5~8] 2 8 2 X - X =
SRRPEEETHE 10 916 | 1 58| 2 |34 5 2 8 |[17~24| 0
£AXREFIE 13 34| 6 X — | 34| 6 X = X =
SRRPEERTHE 10 916 | 1 5~8 | 2 2 8 |9+16| 1 916 | 1
AXEFIE 10 5~8 | 2 34| 6 X - X = X -
SHAZERFE 10 5| 2 |58 ]| 2 2 8 |58 2 X =
LHEXNEFIE 85 41 33 12 8 7
SAXRPERFIE 89 40 36 33 23 8
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‘1974 LAXEFIE 1 13 [ 34| 6 X — |58 2 2 10 % =
LEXFERTIE 1 10 | 2 8 [17~24| 0 | 34| 5 [3-4] 5 |58 2
‘1975 LAXEFIE 1 13 | 2 10 | X — X - X = % =
LEXRFERTIE 1 10 | 2 8 [17~24] 0 |58 | 2 | 34| 5 [9v6] 1
‘1976 2AXEFHE 0[] 8 ]2 [ x[-=1]s58]2 [ x[-1x]-
LEXFERTIE 1 10 | 2 8 4 | 4 3 6 |58 2 |58 2
‘1977 2BFBRFHE 1 13 | 4 4 x | — [ 58] 2 X | — X =
LEXFERTIE 1 10 | 3 6 4 | 4 2 8 [58] 2 |58 2
‘1978 L2EFRFHE 1 13 | 8 2 4 4 |58 2 |[58] 2 [58] 2
LAXRFERFE 1 10 2 8 4 4 3 6 X - X =
‘1979 SAXEFIE 1 13 | 8 2 3 7 [5~8] 2 X = X =
LAXRZERFE 1 10 4 4 2 8 3 6 | 58| 2 |9+16] 1
‘1980 SHFBEFHE 2 10 | x = 1 13 | 5~8 | 2 X | — [ 58] 2
£AXRELEEFE 8 8 2 1 10 3 6 X - X =
‘ 1981 SHFBEFHE 2 10 [ 34| 6 |58 | 2 X — x | — X =
2ax24ETE JE 8 4 4 ™ 10 | 3 6 |96 1 |58 2
LEXEFIE 8 2 | x | = | x| = [34] 6 |[58] 2 x | —
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RET ERTEH 1 10 X = X = X = X - 2 8
LAKETIE 0 13| 2 10|78 2 |[78] 2 | x | = | x | = éEl?liA
KRS T EY RN 10 | 2 | 8 | 3 | 6 | 4 | 4 |58 2 |58 2 |EEEE
KT R EH 1 10 |34 5 2 8 X | = X | = X | = |PEoa
2AXREFIE 110 42 28 20 14 4
LEXFERTIE 92 57 48 59 23 14
KT EERTEH 20 5 8 0 0 8
| OlEft - AR D222 | @104 | @84 | @79 | ®37 | ®26
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£AREFIE 1 3 |34 6 X — X — [ 34| 6
1084 =Z£BAREEEFE 1 8 4 4 |5~8| 2 [9+16] 1 3 6
KEEERTEEH 1 — | 34] 5 2 8 [34] 5 x | —
LAKNEFIE 3 [34] 6 [78] 2 x | — | x
1985 £HAPLERFE 1 8 3| 6 4 4 [58| 2 |58 2
KET R EH 1 5 X — X — 2 8 X =
LAXEFIE 1 — |56] 3 x | — |56 3 X | —
1986 =2B#x¥4EF# HEE 2 10 [586] 2 | 3 | 6 |58 2
RETEERTEH 6 2 8 X — X - X =
£HAAXEFE — |34] 6 | x| — [F 13 [56] 3
1987 =£BXRPLERTFIE 2 3 6 8 2 4 4
K& F EERER 5 10 [34] 5 | x | = | x | =
2HXAETHE — | 56| 3 X — | 56| 3 4 4
1988 =£BXRPLERTFIE 2 3 6 |58 | 2 4 4 2 8
KEFE ERER 6 2 8 4 4 X — X —
LAXEFIE 10 X — X - |7-8] 2 (78] 2
1989 £HAXF4ETIE 8 [58] 2 |58] 2 4 | 4 3 6
; 8 [34] 5 [34]| 5 x | — x | = |Bsghias
7 x | — | x| —1]56] 3 [78] 2 LB%
1990 =ZHAFLEERTFIE 8 58| 2 |58 | 2 4 4 3 6
K TEREH 8 | 3 6 | 4 | 4| x| — | x| - |ESias
SAXEFH 4 [56] 3 [78] 2 | x [ = [ x| — |PLIGAN
1991 2£BXRPERTFIE 10 3 6 4 4 | 5~8| 2 |58 2
KEFEREE 10 3 6 4 4 X X —
LAXEFIE 13| 4 [ 4 [56] 3 x | — | x | —
1992 £BXRF4EETFIE 10 4 4 3 6 X — |[9~6| 1
K TE HERER — 4 4 2 8 3 6 X —
LAXEFIE 4 | 78] 2 2 10 X — X -
1993 £AXF4EFIE 8 4 | 4 3 6 8 2 8 2
RETERTEH = X = 2 8 4 4 3 6
. LAXEFIE 109 33 17 24 17
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28458F# HEEED 4 [78] 2 |56] 3 x | — | x | =
1994 2£BAZEEFE 1 10 6 2 8 4 4 |9~16| 1 |58 | 2
R FE ERFEE 1 10 6 2 8 4 4 X — X —
LAFBFIE - 3 |56] 3 [78] 2 3 | 7 | x | =
1995 28#x%24£EF# FERHEK 4 | 2 |8 10| 3 [ 6 [58] 2
RETEREH 10 — | a4 3|6 | x| —-—1]1218
LEAETHE 13 — | 37 |56] 3 [56] 3 [ x| -
1996 £BRAXFLETIE 10 1 36| 4] 4 2 | 8 |58 2
KETE EREE 4 10 2 8 3 6 X — X —
LAXEFE 10 3 x | — | 3 7 [56] 3 x | —
1997 ZBAFLEEFHE 8 10 | 9~16| 1 4 4 3 6 [5~8] 2
KPEEREY 10 8 4 | 4| 3|6 | x| =—1]x1]-=
£BAXEFIE 7 2 X — 4 4 X — X -
1998 £BRAY4EFIE 10 8 |58 2 3 16 |58] 2 [58] 2
R F ERER 10 8 3 6 4 4 x | — X -
LHAREFIE 10 7 | 56| 3 |56 3 X — X —
1999 £BRXFE4EETIE 10 8 3] 6| 4] 4 |58 2 |58] 2
K E REREH 6 10 4 4 2 8 X | — X — | RGN
LEFXEFH . 2 7 |56] 3 [56] 3 [ x| =1 x] - —
2000 ZEAYERFE 10 6 | 2 | 8 | 4 | 4 |58 2 |96 1 =mAER
K E B R, 10 4 | 2 18 | 316 | x| = | x| — |55
SHKXETHE 6| 3 3 n 1B | 3 | 7 | x | = | x | — |F oAk
2001 ZBEXRPLEEFIE 4 6 10 | 2 8 [9+16] 1 [9+16] 1
KT EEREH; 4 10 2 8 3 6 X | — X =
BERY—5 11 8 4 5 6 2 X | — X =
2002 £BAXEFIE . 3 7 4 4 | 78| 2 X | — X -
SAAPERFIE 8 4 | 3 6 [ 10 [9+16] 1 [9+16] 1
KT EREE 10 6 4 4 2 8 X — X -
BEXY—Y 11 5 6 | 2 3 8 x | = | x| - 28X
2EAREFHE 13 2 4 | 4 |56 3 [ x| = | x| = |[BESFe
LHAREEFH 10 8 3 16 | 4|4 |58] 2 |96 1 |FEEEEEE
KT EREH 8 — I 0] 4 4|36 [ x| - -
Bxy—4 7 0 0
2HAKEFIE 13 0
2AXRFEEFIE 31 16
KEEEREE 6 8
Ollgft - & m#ast ®50 ©24
=SAEEEXRY—JEE 0 0
LEARFEASEN 0 0
LAXRFEEFERASER 0 0
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BARY—Y 8 5 X — X — 7 2 5 3
2004 SHAEFIE 10 7 x | — X | — |78] 2 |56]| 3
SAXRPERTIE 10 8 |58 2 |9+16] 1 3 6 4 4
KT EEREE 10 8 X | — | 58| 2 [34]| 5 |58 | 2
BXY—45 11 2 X - X — 8 2 3 8
SHAEFIE 7 10 4 4 X | — | 56| 3 X =
SRFRPERTIE 8 10 4 4 [58]| 2 3 6 |58 | 2
RETEERER 10 8 34| 5 |58] 2 |[58| 2 |34 5
BXY—5 3 2 2 11 X - 9 1 3 8
LHAEFIE 10 6 |34 6 x | — | 78] 2 X =
SERAFRPERTIE 10 4 2 8 |58 2 3 6 |58 | 2
P35 M 5~8 | 2 2 10 [9~12] 1 3 | 6| 2 |8
BARY—Y 2 11 8 5 3 7 2 6 2 10 1
SRREFE 1 13 6 | 56| 3 X | — | 78] 2 X =
SHARFEETFE 1 10 6 4 4 [17~24| 0 2 8 |58 | 2
RET EEREE 1 10 8 |58| 2 |58 2 4 4 3 6
BXY—5 1 14 5 3 8 9 1 10 1 5 3
£AXETFHE 7 3] 2 [10] x| —1]56] 3| x| =
SAXRPERTE 10 8 4 4 [58| 2 3 6 |58 | 2
RET EERER 1 10 8 34| 5 |58] 2 |[58]| 2 |58 2
BXY—5 X = 3 3 8 8 2 9 1 6 2
LHAEFE 34| 6 10 | 56| 3 |[7-8| 2 X = X =
ERAFRPERTIE 6 10 2 8 4 4 | 58| 2 |96 1
KEP T FERTE R = 10 | 58| 2 (34| 5 |58 | 2 X —
BAY—Y 8 2 1 14 4 5 9 1 6 2
£AFXEFE 6 6 10| x| = x| =1x]-
SRAKRPERTIE 6 8 1 10 |96 1 |58 | 2 |58 | 2
REET FERTEE, 5 10 [ 34| 5 2 8 x — | 58| 2
BARY—Y 3 14 6 2 3 8 10 1 9 1
SRAREFIE 6 13 [ 78| 2 x | — X = X =
SRAPERTIE 8 6 10 [9+6] 1 [9+6] 1 [9+16] 1
RS EEERTEE 10 5 | 34| 5 2 8 |58 | 2 [9v12]| 1
BXY—5 3 14 7 2 3 8 11 1 8 2
LAREFIE 6 10 X - X = X - 78] 2
ERAFRPERTIE 6 10 |17~24| 0 |[17~24| 0 |58 | 2 2 8
KT HERE R 10 6 | 58| 2 X — [5«8] 2 |9v2 ]| 1
BXY—5 11 8 6 2 4 5 9 1 12 1
AR EFIE 10 3 X — | 78| 2 X — X =
SAARFEEETFE 8 10 | 5~8 | 2 3 6 (96| 1 |9+~16| 1
REPT EREH 6 10 4 4 2 8 X — |58 ] 2
BARY—Y 72 50 31 13 31
LHAEFE 81 38 4 12 5
A0 | £ EXRPERTE 82 52 19 40 25
RET EERER 73 40 38 25 29
OlEf: - B m#Et (1308 2302 3180 @92 ®90 ®90
EOEREARY—JEE 0 0 0]
LAREFERSER 0 0 o]
SAFRPERTHERSER 0 0 o]
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BERY—5 2 9 1 X X 10 1 1
2014 2RFXEFE . . 6 X | - X X [7-8] 2 X =
SHARFERTFIE 10 | 5~8 | 2 3 6 4 4 |96 1
KEEEERES 10| 4 | 4 [ 3 |6 |58 2 [58] 2
Bxy—4J 8 5 3 X X 9 1 11 1
£HXEFE . 3 |34 6 X — X | = X —
SRAPERTIE 4 10 | 2 | 8 |58] 2 [916] 1
REFEREH 1 8 | 3 [ 6 [58] 2 [9v2] 1 | x [ -
7’ 1 11 3 8 X X 7 2 11 1
. 3 |34 6 X X X | — [56] 3
243427 IEE 6 q 10 [17~24] 0 [58] 2 | 4 | 4
K E EREH 8 | 36 [58] 2 [5-8] 2 [9+6] 1
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